AN ROINN OIDEACHAIS
(Department of Education).

. INTERMEDIATE CERTIFICATE EXAMINATION, 1952,

ELEMENTARY 'MATHEMATICS (Algebra).
FO'H GIRLS ONLY.
TUESDAY, 17th ;It',‘.\'}a'.-—-.\i'uu\-":x'.':. 10 To 12,
Stz questions may be answered,

All guestions carry equal marks,

D I TR e A T R o
1. Find the value of (-ML o ”. _'U A - o A
When x=381 and y=—2.

I o At a1 Hr—-8
2. Put the expression JT e o

into its simplest form.  Find the value of 2 for which the expression
Cwill be equal to 6 and verify your answer.

S Tactorise :
(i) ac—be-ad—1I,

(ii) 202 —Ha+-2,

(i) (@b} a—20)° —(a—2b)3,

© 4. A woman bought 2 oranges at y pence cach and 2a oranges al z
‘pence each. She sold the whole lot at k pence each. Find (i) the total
icost of the oranges, (ii) the total selling price, (iii) the profit made,
(iv) the percentage profit.

Or,
- 4. A man purchased 12 dozen pencils for £1 8s. 0d. For some of
the pencils he puid 24d. each and for the remainder he paid 23d. each.
¥ind how many he bought at 23d. each.

[OVER



5. Find, correct to two places of decimals, the values of » whic)

.“'Fll‘l‘-'{:\_ ol — Bl F=0).

aph of x2—3x for values of x from —2 to -£5, and
)

Gi. Draw the

find from it the value of #* —3x when x=24.



